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If the opinion of 11''1 is valid — N7 92979 RNOK OR

OVERVIEW

The X mx previously mentioned a npY7nn between "1 (who maintains there
1s a n"21m nY1aw by 07y NRTYA) and P 70K °277 M2AX (who maintains there is
no MW by 7Y NXRTVA because of the vy » in the P109). The Xni there
concluded that this np12mn is dependant on the npY7nn between the 13127 (who
require a mIvwsa 7R O87) and A" (who does not require it and maintains
that 2>1YWw2 12 773 200 YL is 21 a 7v12w). n"1 follows the 7127 and M2K
X"17 follows the view of 3"7. Based on this, ndoIn rules that the 779%:7 is 11"2.

— "5N951) 1397 19399 1Y ¥PI IYY XY XN 5395 NAYNT AN
It seems to M>01n that the ruling is according to 1''9 (concerning a 111
72w by 27y nX7Y), for previously the X ni established that the ruling of

1" is according to the 3229 who argue with 3'9 -
— NI )9 YAV R IR (0w xnp xa3) NN ¥19Y 2759999 179NN NaYNY

Where the 712577 is according to the 71127 as the X7»3 asked in the end of
Rt P, ‘what are you teaching us, we learnt this in a mawn?!’

mooin offers an additional proof that the 75977 is 13127 regarding D°1Yw2 17 7737 DO0A WYL:
— NYD DYMYWA 19 NN PN 1PV IRNN 7999 (ovr x,p yps) INIYA 7992 19

And similarly in ®Xwn P95 the X723 asks, ‘why should he swear; it is a

case of @ampwa Y2 773 U uYw!’

— (VI N,” 97T MMaY) 1232290 NIV P93 *onnws *a4 9930 199
And ®X12M 21 in P77 YRR P09 also maintain that oo wwa ¥ 7m Pon WY
is Mwd. Once we have established that the 719977 is 131275 then we must assume that the 7997
is 113, since the Xn3 stated that these two views are interdependent.

moYIN anticipates a difficulty; how can we say the 71377 is 1" -
— *NPN ON N9 9INPT 23 Y 9N

!'See ‘Overview’.

* This question was asked on jn3 92 727 who taught that 2*1wwa Y2 77M bR WYY is AYAWA MWD, See
previous 773 7"7 MooIn footnote # 3. The X there assumes that the 713777 is 731212 that he is Mws.

? The nawn there rules that if the seller says I sold the smaller of the two slaves, and the buyer claims you
sold me the larger one; the rule is that the seller swears ("1 ny12w) that he sold the smaller. The X n3 asks
that 1vw X2 12 77w 7112 777 XD WYOw 0.

# 91 maintains (on 2,u7), that the two 2’09 are for 71vvI NXPR 77 and 7YYL 1M 371 as 1" maintains.

> XMW maintains (on 2,0%) that MYV XY 12 I 72119 7N KD WYY 0.

% See ‘Thinking it over’ # 1.
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Even though the X773 here states; ‘if it is indeed so that the 7597 is n"12’,
implying, at best, that it is doubtful whether the 72%7 is 11"12!

mooIn replies that the expression XN°X O is not worrisome, for -
— RN 299D NNON ON 9INPT (03 97 man) (9779N) P99 NINIJWN ) ’2N

We find the same thing also in [¥3727] (5"VX) P99, where the X n3 states,

NIYT 2979 RMOX 2R (the same Rn°X oX as here) -
— 555999 191193 239N NYYAY ININNY NYN NI ININT

Who maintains that a wife can say to her husband I need not be fed, etc.
The expression Xn°X aX is also used there, which can be interpreted that it indicates doubt
whether the 179977 is X117 272, or not -

— N 292 P09 (3,37 97 0vw) M) 23T NV P99

But nevertheless in n19913 51997 s1w 95 the X723 rules like 51''9; likewise here,
even though the X713 states 11172 Xn°R ax, nevertheless the 7397 is 1".

Mmoo asks:
— NP 22975 NFPN ON 122N N1
It is astounding! Even if we follow the ruling of i'' -
— 11199359 591 YANT 99Y 11PNONT “NIN YanwUn KY
The shepherd cannot swear here in this case where there was testimony

that he ate two of the sheep -
— 1995 PINNT KON VARN 1993 PINA KY 19W 113w mwn 1809 nnt

For why is it that by the mwn 7% there is an obligation to swear, because
the accused was not substantiated as a liar, can you say that here, where

the shepherd has been proven to be a liar -
— VRNYN THOY RY XN (1 WY 79997

As the X3 asked previously when we wanted to derive 2°7¥ nX7v73 from
the mws 7¥, and here the idea of w»nwn is not applicable as it is by nx7va

’ This is amended to read '(2,v 77) 011"

¥ A woman can argue that her husband need not feed her, and her earnings should belong to her.

? See “Thinking it over’ # 2.

' The ruling of 1" that 07y NX7Y77 obligates a 12w was derived from a mw: 78 of X"y 12 (see the X3 on
X,7). The case of X°¥1 X177 differs radically from the mwi 7%, since here the X°¥1 is 1793 p1mit. How can we
derive a 7¥12w 211 by a 1193 P17 from a mMwit 7% where he is not 1793 pIimn?!

" When we attempted to derive 27y nX7v71 from a 7w 7% the Xn) asked, that by the mwi 7% he was not
1792 P, however by 07y nR7YA he is 1190 pimi (on the fifty which he denies and the 0’7y say he owes).
See following footnote # 12.

"2 When we derive 07y nx7v7 from the mWwi 7% we cannot say that by 07y nX7v7 he is 1192 prmy, for even
though he is lying, nevertheless he is not 1193 P17, since we can say he is lying because of *vnwx for he
has no money to pay. However here where the shepherd ate two sheep, this is no *v1nw°X he is an outright
thief.
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07y, How can we be 2nn a 7y1aw by a 1795 prma?!"?

nvoIN answers:
— YN DX1Y NNTYNA NNAY YOIV 1Y SINN 9120 YW RNY)

And perhaps one can say; after we derive that there is a nvaw

regarding 2°7» nX7¥;7 by a loan, which we derive from the mw: 73, then -
SPTPY MY’ Pa P9NY Pr Hanen

Henceforth we cannot distinguish between a loan (which is not 7793 p1m7)
and a deposit (which is 7195 prmin); in all case there is a 72w 210.

SUMMARY
The 71257 is like 11" since he is in agreement with the 13127 (and we ignore the
expression of XN°X OX). OY7Y NRTVA 1s 217 a 7MW even if he 1s a 7793 P,

THINKING IT OVER

1. mooIn explains that the expression Xn°X ax does not contradict that 7397
n"32." How will maoin respond to the other expression of the X7m3, that
M7 XN*27 01 XNwA, which indicates that the 71957 is not 7"12?!'°

2. mooIn asks how the X°¥7 can swear since he is 7792 P1m (and it is not
similar to the mwn 7%)'". How does moown question differ from s™ax
question, %177 113 xm'2!'

3. When no01n asks that the X°v7 should not swear since he is 7792 P,
what, in M50 opinion, should the ruling be?"

13 Perhaps because of this difficulty X1 "1 said X1 172 Xn*x o, that even though the the 73777 is like X1 '

concerning a 7171 but perhaps by a 1193 prmi the 7577 may be not like X>r ™.

'* When we are attempting to create a new law, that 07y NX7v71 is 2nn a 712w, deriving it from a mwa 73,

then we can refute this 7°%, by saying o7y nX7vn is different from the mw: 7 since it is 17793 p1mIn (as the

X723 initially assumed). However once we have already established a rule that 2°7v nR7Y7 is 2 a qvIaw

y y

by m>» where there is no 193 p1mi), then 0’7V NRTY becomes like a regular n"2w, and just as a n"am
y g ]

swears both by m>n and 1175 (for the a7 X177 °3 P9 [from where we derive n"21m ny1aw] is written by 11779),

S0 too O’TY NRTYI is 211 a 712w in all cases [even by 11775 where he is 7793 pimi].

15 See footnote # 6.

16 See 7™w 0" and 0P MR *"A.

17 See footnote # 9.

18 See 7w o" .

19 See mann pwn.
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